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8.0 11.8 7.8 2.0 TSH
6.3 7.2 3.4 1.9 WBC
3.8 5.1 4.1 0.5 RBC
6.7 3.0 13 0.85 HB
6.0 3.8 13 0.8 HCT
4.3 33 0.5 MCV
4.3 3.0 0.65 MCH
2.0 0.29 0.9 MCHC
21.1 12.1 4.5 PLT
6.4 5.8 14 2.2 BUN
7.3 4.0 1.65 Glucose
3.2 11.8 6.6 2.6 Cr
133 9.1 2.1 HDL
15.7 8.9 34 LDL
3.0 4.6 1.6 1.5 Ca
8..0 2.0 3.0 Ph
1.5 TIBC
9.2 7.1 0.5 3.3 Fe
6.4 4.9 1.7 1.6 U.A
8.9 5.1 1.9 Chol
9.8 10.3 6.3 2.0 TG
9.6 6.7 3.2 1.75 SGOT
9.4 8.8 3.8 2.5 SGPT
6.5 12.2 4.2 4.0 ALP
5.5 12.9 4.9 4.0 BillT
3.2 37.0 24.0 6.5 Bill D
1.5 Alb
6.2 4.2 1.2 1.5 T.Protein
19.5 4.0 1.0 15 CPK
4.7 CPK-MB
4.5 5.1 0.1 2.5 LDH
5.9 145 10.5 2.0 GGT
2.5 Mg
7.7 15.0 7.0 4.0 Lipase
4.6 15.5 10.5 1.5 AFP
34.0 27.0 3.8 BHCG
T=0.4 35 Mn
T=0.3 1.1 Selenium




8.9 9.4 2.4 3.5 PSA
26.9 14.9 6.0 PAPP-A
24.0 14.1 5.1 Inhibin A
31.0 15.2 8.0 F.Estriol
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1.47 Proges
7.3 9.0 3.0 3.0 VitD
8.0 Cortisol
7.7 7.3 3.0 2.2 T4
4.5 T3
4.6 T3 Uptake
18.1 6.1 6.0 Free.Beta
4.17 Testosterone
8.7 4.5 1.5 1.5 Amylase
T=0.3 3.0 CU (Urine)
T=1.8 1.0 CU(Blood)
9.1 7.2 5.0 1.1 PT
4.6 7.5 1.7 2.9 PTT
3.3 D-dimer
21.7 5.9 5.0 0.46 PT(Poold)
13.3 3.7 1.7 1.0 PTT(Poold)
T=0.35 As(U.A)
T=1.6 Hg(U.A)
T=2.1 21 Pb Blood
T=0.5 Chromium(Blood)
T=0.7 Cobalt
T=2.3 Nickel
T=1.6 3.7 Cadmium(Blood)
T=0.3 Cadmium(Urine)
104 0.4 0.25 NA
14.5 1.16 0.8 0.33 K
4.2 8.7 2.9 2.9 Li
4.8 Phenytoin
3.0 Lamotrigine
4.0 Carbamazepine
5.0 FT3
11.3 Vit B12
4.0 Anti.TPO
13.6 6.6 35 Free T4
2.6 Ethotoxomide
4.5 Primidine
2.0 Tyrosine
3.5 Phenobarbital
3.0 Phenylalanin
T=0.3 3.0 IGG1
T=2.0 2.5 IGG2
T=0.6 2.5 IGG3
IGG4




3.5 Haptoglobin
T=2.7 3.0 Digoxin
1.5 Lactate
T=1.7 2.0 Zinc
0.8 Ca++
1.5 NH3
15 Pro.C
1.2 Pro.S
4.0 F.vill
6.0 Folate
34 17.0 11.0 2.9 C-peptide
0.9 E2
4.5 Pro-BNP
3.0 Anti.Trypsin
1.0 FSH
4.0 LH
4.5 PRL
P.G Lupus
T=2.9 Tacro
T=0.5 6.0 Cyclo
T=0.7 3.5 CA 15-3
9.1 14.0 8.0 3.0 CA 125
7.0 CA 19-9
T=1.5 4.0 Anti.TG
12.1 17.7 14.7 1.5 Insulin
T=0.7 2.0 CEA




